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1. Use FTC or geometry to evaluate each integral:
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(c) f v6z — z2 dz Hint: Complete the square and graph y = v6z — 22

b1 == (Wbr\ = = (-bne 9 -9) = - ((1..7,\"'_ 9\,'9-'(1.53"
Thees "’\": {c:l-'l'" = ﬁ-(l—’ay' \o ¥ 31‘4["-\ A seuw ~irele

CQWW a“ (5 0\ d"quu:, ‘5 | :
‘IfT” ‘q,(.zalq( g \(61* Ax = S:"‘?‘(xv ol
Al fe&emg ) ?3 of e aua ofe Al

PG’AA‘ Se g '-"'!."A'l" ._4.2_.5?4
o 4

2. Suppose a gauge at the outflow of a reservoir measures the flow rate of water r(£), in ft3/min, at t minutes since
the valve is open.
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(a) In one sentence, explam what the following integral represents: f r(t) dt ' ’ .
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(b) Suppose now the flow rate is given by the function r{t) = 50t if0<i<d Graph this function.

200 if4<t<10
(c) With the function r(¢) from part (b), find the total amount of water that flows out of the reservoir in the

interval {0, 10] mimutes. &wr(j—\ 44 - &l' sot A4t + \w-boo dt
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